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4. There are a lot of buildings in Istanbul and after - - - -

1 - 6. sorularda ciimlede bos birakilan yerlere uygun
some of the houses are full water.

gelen sozclik veya ifadeyi isaretleyiniz.

1. Stephany is a great student and he - - - - studies his A) heavy rains
school subjects on time. B) volcanic eruption
A) never C) drought
B) rarely D) earthquake
C) seldom E) avalanche
D) hardly ever
E) always
2. lliveinIstanbul and my sister lives in Kars sowe - --- 5. If a large amount of snow falls quickly down the
see each other. mountains, we call it - - - -
A) generally A) volcanic eruption
B) always B) tsunami
C) often C) avalanche
D) hardly ever D) drought
E) usually E) hurricane
3. Jessica is a chatty girl. She - - - - talk for a long time. 6. ----is ahuge and powerful wave after an earthquake.
A) can A) Drought
B) can'’t B) Volcanic eruption
C) able to C) Tsunami
D) be able to D) Avalanche
E) can not E) Hurricane
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7 - 8. sorulari asagida verilen gorsele gore cevap-
layiniz.

9-
layiniz.

12. sorulari agsagida verilen metne gore cevap-

above?

A) Drought

B) Volcanic eruption
C) Landslide

D) Avalanche

E) Flood

When we see a natural disaster like in the picture?

A) After a sudden explosion of volcanic eruption.

B) After a long period when there is little or no rain.

What kind of natural disaster can we see in the picture

C) After a sudden violent movement of Earth’s surface

D) After a large amount of water with heavy rain

E) After a large amount of snow falling quickly down the

side of a mountain.

10.

1.

12,

Austin is a doctor. He looks after ill people. He usually
gets up at 6.00 o’clock. Today he is late, it is 6.30 and
he is still in bed. He usually goes to work by bus but
today he is driving to work. He arrives at work at 6.30
every morning but it is 7.30 now and he is still driving.
It's 12.00 o’clock now. He always has his lunch at
12.00 but today he isn’t having lunch at 12.00, he is
looking after his patients. It is half past seven now,
Austin is watching TV. He usually watches TV at half
past seven because his favorite programme starts at
half past seven. Austin has his dinner at 8.30 everyday
and he is having dinner now. It is 24.00 now Austin is
going to bed. He always goes to bed at 24.00.

What time does Austin usually get up?
A) He gets up at half past six.

B) He goes to bed late.

C) He gets up at seven.

D) He gets up at six.

E) He is going to bed now.

Why is he driving to work today?
A) Because he can drive a car.

B) Because he is late today.

C) Today is important for him.

D) He can’t ride a bike.

E) Because he likes driving.

Does he watch TV in the evening?
A) He doesn’t like TV programmes.
B) He is a television addict.

C) Yes, he does.

D) No, he doesn’t.

E) Yes, he doesn't.

How often does he get up at six?
A) He never gets up early.

B) No, he gets up at seven.

C) Yes, is late today.

D) He rarely gets up at six.

E) He usually gets up at six.
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